Question 1
Show the appropriate regions on a diagram and determine the probability for each of the following (5 marks)

a) P ( |Z| < 1.5)

b) P ( |Z| < 1.65)

Question 2

Show the appropriate regions on a diagram and find the x value for each of the following (5 marks)
c) P (0 < Z < x ) = 0.3665

d) P (-x < Z < x) = 0.6528

Question 3
In a Math B test, the results were normal distributed with mean score of 61 and the standard deviation of 15. If 20% of the students failed and 10% were awarded, what is the passing score and awarding score?
Question 4

He gate, the probability of successfully kicking in is 0.65, determine the probability of kicking the ball in more than 200 times.

Question 5
On average, a person with a cold will get better in approximately 3.4 days. In trials for a new medicine, the following results (in number of days to get better from a cold) were recorded and the medicine company claimed that their new medicine was defective in treating a cold.


2.8, 2.2, 3.5, 1.9, 2.0, 3.2, 3.7, 3.4, 2.6, 3.1, 3.0, 2.2, 3.4, 2.4, 3.6, 2.9, 2.1, 3.5

Comment on the claim made by the medicine company using a 5% level of significance. (4 marks)

Question 6
Stainless rods manufactured for a car company are required to be 0.1500 cm in diameter with an allowed tolerance of  +-0.0050cm, that is, if the rod is less than 0.1450 cm or more than 0.1550 cm, it will be rejected. The historical data have shown that the diameter of produced rods is normally distributed and the standard deviation is 0.0025 cm. What is the probability that a randomly chosen rod is rejected (6 marks).
Answers:
1. a) 0.8664, b) 0.0990; 2. a)1.11, b) 0.94; 3. 48 for pass and 80 for an [A]; 4. 0.2678; 5. Reject the claim. The new medicine had no significant effect on curing a cold. 6. 0.0456.

Reference:
Pu, (2006) “Bridge” P.17, November 2006

